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With whose coordination does the major memory work?

-
(A)SsTeeT  (B) 9w & *12
(C) RAM (D) CPU

EXCERSyr
% tor Exce‘l\e“oe




a JUH 01T I & ?
The first calculation tool?

(A) FaFA (B) Bww goret EXCEE

(c) 3rdehar (D) T Yot

o (%
or g xce\\e°

Q yE AR fFad goeaq @ F FIA ¢ ? qﬁﬁamuﬁawmma;mmm?

With whose coordination does the major memory work? For which work was the famous computer known as Pacman?

- '
B3 (A)seed (B) faRAY FRT HTS XCEE - B
(C) RAM (D) CPU S c@'»"’-iN"'

10

(A) 3% (B) AT ISR EXCEL),
(c) @ (D) & THTRI ;f’liNT

Opt

o




Q.ﬂﬁammwmmﬂ:mwm?

For which work was the famous computer known as Pacman?

(A) dF (B) AT IR

(C) @ (D) IETH ThIAT
Y 2 Renkiciike i o Y s w0 @ vgEd R @ A Fee ¥ 2
The first calculation tool? Commonly used computer is?

(A)%ﬁﬁ?—l‘ HFYH (B)m YN EXCEE

(B) Bw{w sort EXCEE:
o’l€"r g, (C) FT8TS FIET (D) TTANT FE A FNT

o

orvine




Q.Ww#ﬂwﬁmaﬁmW%?

Commonly used computer is?

(A) Bfoea FgeX (B)m $Y  EXCEEL
(C) eT3T¥Z FTYEX (D) TATANT FTIEX ’

ENT

o
f° r E )(c:e\\e

a.ﬂwﬁammwmm#;mwm? a CRAY 4T § ?

For which work was the famous computer known as Pacman?




Qmm#wmmmwz‘?

Commonly used computer is?

(a) f3farea W(B)m FYN  EXCE

4 (c)Fmfas FTgeX (D) T W

ILEN T

o J§

ﬁmmmﬁmma?wﬁw
g o a1 ?

What kind of multi programming programming did the
computer start with?

(B) gfacirr didh
(D)ﬂ?r%‘r i)

(A) T4 HIgY

e EXCEL



A NATAT FT 9397 fFw G & Fog F 4+
g3 AT ?

What kind of multi programming programming did the
computer start with?

(A) 54#H dI<l (B) gy Y EXCE
(g ff (D) Fqd N TENT

G
f° r Exce ‘eﬁ

QCRAvaFaT%? Q|MACWWW%?

CRAA is a? There a kind of IMAC?

(B) HeThaA FYH
(D) g amz'{

(B) FER EXCEL)Y,




o Wl IMACTUH YFR &T g ?

There a kind of IMAC?

(A) FAeT (B) I AEY EXCEL
(C) FTITH (D) ITeT : ‘“::N 2

o (%
for g xce\‘e°

ana;nunnmmﬁmqman B b FIR & 3Fw & gaiftrs e s § 2

§'3TI'21T?

What kind of multi programming programming did the

computer start with?

@ dd (3 g 0 EXGER)L, (NI qaT  (B) AW IR EXCELL
O Rd (o) B () seIst TR (D) AT AT

Most Contributing Man in Development of computer?




Q . FYX F RAFE A Fafts Jeee Fasr § 2
Most Contributing Man in Development of computer?

(A) ITed d&eT (B) I ® AFgs EXCE‘LENT
(C) ST UTEhel (D) aTeT —zmrrr

Gy

QIMACWWW%? oﬂﬁ?ﬁu%ﬁ;wmmaﬁrwaﬁ%?

There a kind of IMAC? What is the layer of matter on the magnetic disk?

4 TN

(A)WHITH‘I’S‘S’ (B) if2as WiFwse EXCE

3 () T (B) TRYER EXCfliiNT A MRS N ’lENT

= () s (D) TR

RS



Q.Wﬁwwﬁmwﬁa‘?fmaﬁ%?

What is the layer of matter on the magnetic disk?

)

(A) IR ATFAEE (B) If29dHA Wwss EXCEL

() AR sitFaTss (D) 51 & A A ATNT

° for r ExceMe®

N 4

9Rd # I5ld ' IR FY # aFww &
TEdT of fhar § 7

Which organization has developed the 'ultimate'
supercomputer developed in India?

(A) IT, PR (B) IIT, fgeel EXCER
) (C) C-DAC (D) BARC e

a@ﬂ?m#mmﬁmﬂ%? 310

Most Contributing Man in Development of computer?

D (A) AT oo (B) ST AAFTS EXCERE,

(C)sasT Y%l (D) T —qm?rr




IRd # AT "9 g FogeT F1 Qe fFa
JEgT o FaAr T 2

Which  organization has developed the 'ultimate'
supercomputer developed in India?

(A) IIT, FTTGT B)IT, el ExcE
(C) C-DAC (D) BARC ADENT

910

o
f° r E )«:e\\e

O T BFF | 0 v AR AN e ? oIl sew wdw # g # frw am & e s o 2

What is the layer of matter on the magnetic disk? Which was formerly known as Uttar Pradesh?

| (A) Terses Wifdew  (B) 3T wou EXCER.
Y (© QY e (D) Feerl Wiedt

A) IR HFETEs  (B) WfSTH Riwwmgs EXCEll ENT
L (O #REE HEEEE (D) 3R @ A A >




o JRN 3T Yo A 99 A fFy A @ &1 ST o7 ?

Which was formerly known as Uttar Pradesh?

(A) TaT8es Wifdsw  (B) 3 Weer EXCEI. .
(C) 37aY Yled (D) 3T Uled e N o

o (%
for g xce\‘e°

WY e A R WA R FI F e PPN Seer WU I T W AR STod GanT F4
ol T A AT g ? B s fFT v ?

Which organization has developed the 'ultimate
supercomputer developed in India?

| (A) T, PR (8)Im feeelt  ExcERY
a. (C) C-DAC (D) BARC et

When was signed by the Governor General on the Uttar Pradesh Raj Act?

L (A)7EET 1947 (B) 10 AT 1948 EXCEL., .
(075 1947 (D) 19 R 1948




IAT Ye2r ST TFE X ITeiY Sfellel GaRT &d

12
. graie fv Irw 2

When was signed by the Governor General on the Uttar Pradesh Raj Act?

(A)7 RHeT 1947 (B) 10 AT 1948 EXGEE:
(C) 7 SteTadl 1947 (D) 19 fewax 1948 ANLENT

° for ExceVe®

911

¥ 3ot W F qd & fhw A § oen oner a1 7 o Bl TR WU F qEwHEA G | qa 3F 7T 9F G A

wﬁammm?

Which was formerly known as Uttar Pradesh? Name the person who lives in Uttar Pradesh for the longest time as CM.

() T5es Wfaew  (B) IS wdu EXCERL.
B (C)3IT11T Uled (D) FeeRT Wied Nt

| || (A) ez Teew O (B) A AR Zed
=l T . | EXCEnT
5 (Tl WoT R (D) g e sgaTon et




3T Yo A AEIHA UG W HaH HfAF AT dF @A arel

13 ¥ &1 ATH IdIBT ?

Name the person who lives in Uttar Pradesh for the longest time as CM.

)

(A) MAs¢ Teed 9d (B) 2t ARMUr e fAal EXCEIL:

(c) Sterdl =0T RAF (D) dAae FiEwT wgaOM ATNT

° for Excee®

I 3R 96 I T R TR FeRel GaRT F4 WP mﬁﬁmmg;mwmmmwﬁm#
AR fw 7w ? iy e awa

Mali Maastan Babu, who was recently named, belonged to
Which of the following areas?

When was signed by the Governor General on the Uttar Pradesh Raj Act

| (M 7RET 147 (9) 209 1948 EXCEB

‘ (A) Feelt (B) ATelaTer EXGER)L.
19 (C)79=adt 1947 (D) 19 fwaT 1948 Xeas 9%




gl A f&aerd gu Aeell AFAE 919 &1 ey et &
¥ R 8T F I1?

Mali Maastan Babu, who was recently named, belonged to
which of the following areas?

o JE!

(A) Fect GEIGIEIG) EXCE
(C) TEARYEOT (D) eaTer ) TENT

fo“' E )«c(‘!\‘e

313 %ﬁr;“ggf?““mmm“wm 315 3ok YU & FRWTe ekl & Aqea W dar & R 2

Name the person who lives in Uttar Pradesh for the longest time as CM. Which leader led the peasant movement of Uttar Pradesh?

: EA):TE'WT :rr”rgr_g i
1 (8) =t WO .

(C) TER TEAHNATS Tl ’lENT
(D) Y. TATEIAT A

| () e Teew g (B) A AR ged
P | | EXCEli_ ENT
(c) Tlerd =Ror g (D) gHad! e g ol




o QO N 3 wdr & RREIT AT F Aqed B Aar o T 2

Which leader led the peasant movement of Uttar Pradesh?

(M;@'IFHT ’ﬁ%

(B) =t =XoT EXCE

(C) TER TS Teel "-EN T
(D) 9. STATETATT ATH RIA A 2

I m#mg;mﬂmmmmﬁm#
 RREGEKGER:]

Mali Maastan Babu, who was recently named, belonged to
which of the following areas?

(B) aTeltaTer
(D) Grearer

ol 3R T # FIHRT YT FIS Fd T 2

When did the Kakori conspiracy case in Uttar Pradesh?

g A) 9 FelT$ 1925 (B) 16 WA 1925 EXCEL
(O 15T 1925 (D)9 3RS 1925 ENT




QR T A A FIHNT YT FIE Fd g3 ?
When did the Kakori conspiracy case in Uttar Pradesh?

(A) 9 STeITE 1925 (B) 16 ®Ia{l 1925 EXCEl’-_ ) -
(C) 15 39TET 1925 (D) 9 39TFd 1925 ’ :

o (%
for g xce\‘e°

YO s s & e v a7 g o B 2 Q QA 3O G SN 3 R R B w1 %

Which leader led the peasant movement of Uttar Pradesh? What is the epicenter of the Ayodhya in Uttar Pradesh?




o JWE 3T gaor  3ravear H FRya e Fg s s ¥ 2

What is the epicenter of the Ayodhya in Uttar Pradesh?

(A) RideTer (B) IecTehTel EXCEEL). -
(C) QTaTehTel (D) FETOTSHT

WY 5 e & B o Rl e R
) FraE ffud § 2

In which district of Uttar Pradesh, the Triveni Structural
Limited is located?

(A) 9 Fers 1925 (B) 16 HXa<r 1925 EXCE’iEN‘ E

When did the Kakori conspiracy case in Uttar Pradesh’

(A) AT (B) TR EXCERL,

S| (153w 1925 (D)9 3w 1925 ()& (D) FeTETdIG




Sy 3 YU F fFw B # Favh e fAes
HRETAT Fua g ?

In which district of Uttar Pradesh, the Triveni Structural
Limited is located?

(A) ATS (B) IHAIY EXCEL
(OFFR (D) FATENTE NLENT

o (%
or g xce\\eo

X ?Tmr#mm#ﬁwfmﬁwmmm% oYY s s 3 Fre s R e 3 R o 2

What is the epicenter of the Ayodhya in Uttar Pradesh? Which organization gave the slogan 'For the Indians Indians'?

L5l (A) TR EEAT (B) Y WA A EXCELDS -
) (C)FTER A A (D) H It




QPR '9Ra HRAR & AT ' aRT By @ yr o *{yr ar 2

Which organization gave the slogan 'For the Indians Indians'?

(A) 3MTHRIT TEAT (B) 3T AT o EXGERC
(C) §TEH AT o (D) 37 ’ ;

o (%
or g xce\\eo

me%mmﬁﬁavnmm P s F7 s 3es AT R FE o ¥ 2

In which district of Uttar Pradesh, the Triveni Structural . .0
Limited is located? Who is the Grand Old Man of India*

(A) A5 (B) THYR EXCEE

(C) TITETHSUT Ael (D) GHNTg; S

() greTens RIS (B) AgTcAT medt EXCERL.




o IV} o F7 vz 3oz AT Y FET STEAT & 2

Who is the Grand Old Man of India?

(A) SIETHTS RS  (B) AGTCAT el EXCEL)Y,
(C) MITIFSIT M@ (D) GHTTew T

YO ‘s st & fore o few e A ka2 QAW Fierds AT FHE ¥ 2

Which organization gave the slogan 'For the Indians Indians'?  What is the essence of Neelkanth?

(A) AMEHT FEAT (B) W §AST A& EXCEL: (A) FHERT (B) sgdife EXCEL:
(C) §TeH WA o (D) =4 ’I'ENT ﬂ (C) regdisrma (D)a%g'w . ""f:N i

-l
-
w
o

&
3,
(&)

o



Q dlelehe HlT-9T FAH & ?
What is the essence of Neelkanth?

(A) FHEIRY (B) Sgdife EXCEL:

CEZLIEIC (D) FeTew ANEENT

o (%
or g xce\\eo

o2V 5 1 Yvz ez A7 Y Fgr e § 2 o2 AR T T A A off o Fle-am A ¥ 2

Who is the Grand Old Man of India? 'If you go, then let me go also' what is the sentence?

(r) cremes AR (B) AR AT EXCER L
(C) TTrFEoT M@ (D) FHTYess A o i

| | (A) aEwgaTE aE (B) ATAAEEE AT EXCEL - r
| (C) Ghdaras aFg (D) fevtraras aey N\




o 2B e H el drf A oft e le-ar AT ¥ ?

'If you go, then let me go also' what is the sentence?

(A) AFgaras a9y (B) TATGTas aTFy EXCEL,
(C) Hhdaras daFd (D) [Straras Iy ’ .

o (%
or g xce\\eo

AN AoFs FiF-a1 A § 2 g W TN AT g HAN { qA gaT faRr 72

What is the essence of Neelkanth? Which of these words is the adjective made up of the noun?

(A) FHURT (B) Tefy EXCEE (A) Far (B) ST EXCEE
g (O yemfivme (D) FcTey "'E”T g (C) o ki "'ENT



oBRY FAA § FIT AT qeE HAT & FA g erwor 2

Which of these words is the adjective made up of the noun?

(A) FT (B) siifa EXGEE:
(C) THF (D) Felle : ’u:::v 4

o (%
or g xce\\eo

o2 I T = at A oft T FTWAFT R ? o

2 farfafda & g e § 2

'If you go, then let me go also' what is the sentence? Has the impure word in the following?

| (A e T (B) FTTATE aed EXCEER (B) 31t L
S (O FFdarEs @ (o) e T A ’l‘iNT (D) T ; TENT




2 rAfaf@a A ey e 8 ?

Has the impure word in the following?

(A) g4 (B) 3TeThel EXCEE
(c) 3mefiate (D) TBT @ "'Ef" 5

o (%
for g xce\‘e°

saﬁ#ﬁamamﬁw#mgmﬁmw%?q

Which of these words is the adjective made up of the noun?  Which of the following is not synonyms of fire?

g (A) T (B) ?l%nﬁfa EXCEIL gnr

(c) o7 (D)%




o XUl Prrafaf@a & ¥ 39T &1 9Iigard) esg A8 ¥ 2

Which of the following is not synonyms of fire?

(A) TIHET (B) §AT2reT EXCE
(C) ﬁaam (D) Tao2rem LENT

Go
Or Exc \\“

(B) &t EXCEL
(D) 'H;ﬂ‘l' G lL€NT



Q A HT EfT T FAT 7§ 7

What is the feminine form of 'sun'?

EXCE‘LENT

Gy o
f° r E )(ce\\e

(B) GdlTel EXCER)L.



a 2NE 'S HT ITIRUT-EATT FIT & ?

What is the pronunciation of '3'?

(A) G (B) QocdTel EXCEL:
O (o)Fgr =

| (O + 3Taw (D) WA + IoAd

AVEF + =0T (B)WA + 3 +31  EXCEDE




Bl HHTAT T Wel Wiew-lAsdg F41 § 7

What is the right treaty break of 'set'?

(A)E + =99 (B)HH + 3d +3T  EXCEL)L,
(C)EH + 3=ag (D) EH + 3TUY

Gy o
f° r E )«:e\\e

PN SERT S T g F AT U 9reg § 2

What is the pronunciation of ''? Is there a word for 'grammar knower' sentence?

(B) GerclTe] EXCEE (A) AARU-RAT (B) AR T05d  EXCE
(D) H\E‘r ® , ’liNT a (C)Q’ﬂw (D) SATHIOT AT ‘lENT




a AN "STHI0T STelsl ITell 99T & [T U+ s & ?

Is there a word for 'grammar knower' sentence?

(A) SITHIOT-TAAYS (B) SATHIOT YOS EXCEL, ..
(C) dITRTOT (D) SITHIOT ATAT o N o

o (%
for g xce\‘e°

Q

B woroa #1 w8 afu-fede Fm ¥ 2 oS AT T T G § 2

What is the right treaty break of 'set'? What is the meaning of ITel Tl ?

3 (A)EH + TET (B) WA + 3 + :
| (AEF + T (B)WH + 3 +3  EXCEL)L .

(C)FHA + 3=wg (D)TH + 3==WY g (A)ﬁ?lé.aﬂ?n (B) e G Excf’iiNT

o @#mdem )@ g



Q?nsrasnma?raﬁi%?

What is the meaning of 9Tl dolleddl ?

(A) UeTs e (B) el AT EXCEL ENT
(C) Ster glhatT (D) FIAT B 2

f° r E )«:e\\e

29 'SR FATeAel dTell’ aiFd & U U eg § ? o BBW camar ¥ Ask BdY | TR DU E B F A cHFTE DFN 2

e b s o e grammar knower' sentence? C is Mother A and B's If D is hushand B, then who is C's?
B ]
(A) SATHRVT-RATT (B) STHIT TV EXCEIL EnT (B) Fee EXCESENT
(€) (D) SITHIOT AT (D) Tl @




o X WM caEaT § Ak B | AR DU & B, FT @ cHT ¥ DAY ?

C is Mother A and B's If D is husband B, then who is C's?

(A) ATAT (B) SIgeT EXCE
(C) 9 (D) Tt : TENT

o
f° r E )(ce\\e

Y I 1 ol F gFan ¢ A e aftad F A @
el ahE # FA-A1 R gy 2

If Friday is January 1, then what day will be on the
first day of the month in any half year?

(A) AR (B) AITETER EXCEDL.

(C) gE@R WERRIGEL

(B) aTelY GeT EXCEL:
(D)m g : ’lENT




afg 1 SaTadl A YFaR § O F s 7 A fA
ggell aE FT FlAAT T B9 2

If Friday is January 1, then what day will be on the
first day of the month in any half year?

(A) FAR (B) HITTAR EXCE
(C) THER (D) FEFUTAAR NDENT

932

fo“' E )1{(:1‘3“e

UF T F1T F RAILFY 5796 for@r Smam § 3T TAPE Y 3748

33 1
caar g AR BT | R pufa g B, FT A CcHIT E DAY 2 93 3 Frar 1 & 30 F 3 PAREY 3 forar o 2

C is Mother A and B's If D is hushand B. then who is C's? In a particular code, RAIL is written as 5796 and TAPE is written as
S ’ i 3748, how is PAIR written in that code?
f (A)ATET (B) el EXCERL (A) 4795 (B) 4785 EXGER)L,
| (O (D)ar (C)3795  (D)8795 N




USF G H1T #H RAILF 5796 far@r STar & 31X TAPE &Y 3748
forET Srar ®, 39 FIF # PARST O for@r T § 2

In a particular code, RAIL is written as 5796 and TAPE is written as
3748, how is PAIR written in that code?

(A) 4795 (B) 4785 &t
(C) 3795 (D) 8795 e "'Efv &

o (%
for g xce\‘e°

333

iy 1 STl F Phar ¢ Al frelt siftrad F g Hr LYW swherm aw A o o # R ok 3 awg ek o

B o i F Far R g 2 o o 3 e 3, R @ e ot 3, SR & e o E 2
If Friday iS January 1’ then What day Will be on the In a row of children in the north, Ritesh is twelfth from left edge. Sudhir, who is twentieth to
ﬁ.l’St day Of the month iﬂ. any half year? e ht edge, is the fourth right from Riteish, how many children are there in the line?
(A) UFAR (B) FITTAR EXCEE ()35 (B) 36 ExclR
) ENT o | ‘lEN T
E (C) §UaR (D) geFafdar 1Y ()37 (D) 34 e N2




3AUAAE T4l A TF 9Fd A, RAY 9¢ 87 q aRgar § | g S qre

34 B8R ¥ TSHar ¢, RAer ¥ e v ater qﬁ?#mﬁmﬁﬁ%?

In a row of children in the north, Ritesh is twelfth from left edge. Sudhir, who is twentieth to
the right edge, is the fourth right from Riteish, how many children are there in the line?

(A) 35 (B) 36 EXCEE
(C) 37 (D) 34 N

LW TF T A A RAILF 5796 for@r Smar § AR TAPE HY 3748 LY T 3 @ o §, e g & o §, g 3 @ v § afe g
il T o B, 39 #iT & PARF FO @ war § 2 F o0 ¥ | T AE A el ¥, o Ao o F Y 2
In a particular code, RAIL is written as 5796 and TAPE is written as '‘Suma’ is smaller than 'Uma’, 'Neha' is taller than Suma, 'Sudha' is taller than Uma but smaller
3748, how is PAIR written in that code? than Hema. 'Uma’' is longer than Neha, who is the tallest of them?
A) 4795 B) 4785 : B ;
(A) (B) EXCER)Y, (B) ¢ EXCERL
(C) 3795 (D) 8795 Nret (D) |em




Wam#a’lé‘r% ET AT A oFdl §, GUT IAT @ e § Afder T

335 F B & | 3AT AET @ o B, St ¥ qA awar w2

'Suma’' is smaller than 'Uma’', 'Neha' is taller than Suma, 'Sudha’' is taller than Uma but smaller
than Hema. 'Uma’' is longer than Neha, who is the tallest of them?

(B) §HT EXCE
(D) §&IT o TENT

f 0
& Or Excee®

3T qodl 1 0 R A, R av sR Fawgar ¥ 1 g A GH e awar 8 e 1978 F ¥ay g 3w R FweraR a1 €
WW#W%WT#WWW%W#WW??W%? B 1986 ¥ IUFT SAeATeH [FH foeT E9 ?

In a row of children in the north, Ritesh is twelfth from left edge. Sudhir, who is twentieth to A child was born on August 8, 1978, on that day, on which day his
the right edge, is the fourth right from Riteish, how many children are there in the line? birthday will be held in 19867?

(A) feraR GIREEL EXGEDY.
(C) AR OERRIGELR Nres

S M (B3 EXGEE
A3 ()3 "'E" .




Ush =97 8 3Fd 1978 Y UeT &3 39 & Ha o1 av
1986 H IUFHT SeHATeeT fhd f&T & ?

A child was born on August 8, 1978, on that day, on which day his
birthday will be held in 19867

(A) AR (B) TAAR EXCEL:
(C) AR (D) FgFufdar :

936

ENT

o (%
or g xce\\eo

QRRY AT A A B R, AR AT @ o R, qur 3 @ o § At f o Yol
Bl O} | A g ¥ Al ), e @ geY ara Fi 7
'Suma’' is smaller than 'Uma’, 'Neha' is taller than Suma, 'Sudha' is taller than Uma but smaller If the police are called teachers, the teacher is the politician, the politician is the doctor, the
than Hema. 'Uma’ is longer than Neha, who is the tallest of them? doctor is the lawyer and the surgeon is the surgeon, who will catch the culprits?
v
(B) g EXCEL; (A) gforE (B) 3FeFe EXCEL;
ENT ENT
(D) g (c) fover (D) gher et




7fe gfew &1 Rrad Fer e, Raw FN TEEIAA, TerEiiaT
a R¥W F) =iFex, STFeT P gl IUT THIT FY ToieT, dF IR FY

HleT ThgaT ?

If the police are called teachers, the teacher is the politician, the politician is the doctor, the
doctor is the lawyer and the surgeon is the surgeon, who will catch the culprits?

(A) gfer T (B) STeFeX EXCEL
(c) RovaTe (D) Fhrer ADENT

) o
or g xce\\eo

UF godT 8 I 1978 I ¥aT g3 3W R Averar v I Q& afe STREAMLINE & W, WTed, B8 3R gwd HeRt 1 e
1986#mamﬁ:rﬁaqm§m? 38 ﬁwmammwma,amammm

A child was born on August 8, 1978, on that day’ on which day his If it is possible to make a meaningful English word by combining the second, fifth, sixth and
birthday will be held in 19867 tenth characters of STREAMLINE, what will be the third letter of that word?

(A) AfelaR (B) AR EXCEL (A)T (B)E EXCEL
(C) AIAAR (D) geFafdar "'E" 5 ()M (D) A "'EN 5




38

3787 T 9T 2

af& STREAMLINE & g, didd, &8 3 gad MR H Rt
HIS G1dF A Aee FATAT GEAT &Y, df 3T AsE BT AT

If it is possible to make a meaningful English word by combining the second, fifth, sixth and
tenth characters of STREAMLINE, what will be the third letter of that word?

If the police are called teachers, the teacher is the politician, the politician is the doctor, the
doctor is the lawyer and the surgeon is the surgeon, who will catch the culprits?

(A) gferd (B) 319X EXCER
(C) fRver (D) T "E"’T

EXCEli_ENT

o (%
for g xce\‘e°

45 faganidal 6 vF F&4T # 0F q@F 1 AT T gl T
gt 3R aTerF gAY A &, A 97 UF T A g A gl 3
YA EIT FAE ?

Twenty-one place of a child in a classroom of 45 students. When two more children
enter, then one place falls down. What is the new place from its end?

QN ?

(A)25aT  (B)26dT EXCEL:
(C)27at  (D)2g9ar "’EN 4




45 faeifiat $r v Fam H TH ddd HT Aal T gl o9
339 al 3R 9TaF vaw AQ §, df 9% TH TR A g S 81 3T
I O AT AT FAT § ?

Twenty-one place of a child in a classroom of 45 students. When two more children
enter, then one place falls down. What is the new place from its end?

(A) 2541 (B) 26dT EXCEE
(C) 2741 (D) 29aT : 'u:::v 4

(3 <
for g xce\‘e°

Mg STREAMLINE & TR, dfad, B 3R qod et # Preme
FIE IR HIST AT TATAT HENT &, a I A FT AT
HER F4T g ?

If it is possible to make a meaningful English word by combining the second, fifth, sixth and One.day Lot LS U Greln len fn L e L mc.ornmg and. you were
tenth characters of STREAMLINE, what will be the third letter of that word? talking to each other, because of which my shadow was making your right and what

direction were you looking at?

(A)T (B)E EXCEL: (A) qd (B) gT&ToT EXCEL
()™ (D) A it "'5"1' (C) 3caX (D) afRa# : "'5"7

BN 5 i A R T geE ¥ 9Ed U9 A UE-gW F AAA-AES @3
o BN o o a0 @ & T A9 orn A o A o @ o, A R
AUICIRE (e d

QN 8




s faoT & 3R 3T gag & aFd J9T H TH-¢HY & HHA-UHA T3S
AT 919 #T 1 ¥ Huw af orr s o Ak 9 @ A, v e
Ramfrsikem w a4 ?

One day I was talking to each other in front of you in the morning and you were
talking to each other, because of which my shadow was making your right and what
direction were you looking at?

(A) g (B) gf&yor EXCEE
(C) 3vR (D) IRTH e TENT

o (%
or g xce\\eo

a ZX0,

45 fgafdal & ve Fanm & S qoF F1 d9ar T gl 99
3 3R aTeF YT A §, A 9 F T A g ren g 3w @
HT Y AU T FATE ?

Twenty-one place of a child in a classroom of 45 students. When two more children Accuracy is a term Which indicates the degree
enter, then one place falls down. What is the new place from its end? . o
of conformity of a measurement to its

(A)2saT  (B) 26aT EXCEDL. g
|

51 | UEET TH Weq § ST $HS AT F eI HI
sfd #xar §

339

(c)27ar (D) 29ar Dot

(a) most probable value. (b) mean value. EXCEl,-_
(c) true value. (d) standard error. . iNT




Accuracy is a term which indicates the degree
of conformity of a measurement to its

(a) most probable value. (b) mean value. EXCEl’-_
(c) true value. (d) standard error. T

G,

3 Tor Exce\\eﬁoe
a ZAV Wmﬁﬁﬁﬁﬂ#ﬁﬁmmaﬁ@mweﬁ,mm Q L8
Remfr i@ @ a2

cgatedd AfedT
>
One day I was talking to each other in front of you in the morning and you were

talking to each other, because of which my shadow was making your right and what Th ~
direction were you looking at? e Sys te matlc e rro rs

(A) q@ () gfayor EXCEE:
(C) SeeR (D) 9= "'E" - E

(a) are always positive.

(b) are always negative. EXCE’iENT
(c) may be positive or negative. y >
(d) have same sign as the gross errors. 4




Lol

The systematic errors

(a) are always positive.
(b) are always negative. EXCEl’-_
(c) may be positive or negative.

(d) have same sign as the gross errors.

ENT

Co) <
%or gxceVe®

Accuracy is a term which indicates the degree
of conformity of a measurement to its

(a) the two ends of a line are not intervisible.

= (b) one end of a line is inaccessible. =

(a) most probable value. (b) mean value. EXCElLENT (c) both the ends are inaccessible. EXCEIL ENT
(C) true value. (d) standard error. o (d) the ends of the line are not visible even from o

‘ intermediate points.

Reciprocal ranging is employed when

[} G
° for Eycete™ o e el



99 IREIRE 87 Ao &ar Sear &

Reciprocal ranging is employed when

(a) the two ends of a line are not intervisible.

(b) one end of a line is inaccessible. R
(c) both the ends are inaccessible. EXCE‘L ENT
(d) the ends of the line are not visible even from Q o

Co) <
Tor g xce“e“

intermediate points.

. . | 3T & 3 © AT Y 125 e 3rerer §, A 0.5 Hex Hi

If two points A and B 125 m apart, have difference in

The SYStematic errors elevation of 0.5 m, the slope correction to the

measured length is

(a) are always positive.

(b) are always negative. EXCERL (a) + 0.001 m. (b) 0.001 m. EXGERC.
(c) may be positive or negative. x ‘ (c) + 0.0125 m. (d) 0.001 m. .
(d) have same sign as the gross errors.

S Go
© for Excete™ r Excele




Ifg & 31 T 3 oF 125 AT raer g, ar 0.5 Her fir

FaT§ A AT §, AN OIS F T FUR §
If two points A and B 125 m apart, have difference in

elevation of 0.5 m, the slope correction to the
measured length is

(a) + 0.001 m. (b) 0.001 m. EXCED).
(c) + 0.0125 m. (d) 0.001 m. .

golFciel g ATT 3YHIOT HI ITAT FI

Reciprocal ranging is employed when Electronic distance measurement instruments use

(a) the two ends of a l ine are not intervisible.

(b) one end of a line sible. =

(c) both the ends bl EXCE’,_ENT
(d) the ends of th l ine are no t visible even from % o s 0%
intermediate points. VT s

(a) X-rays. (b) Sound waves. EXCEC
(c) Light waves. (d) Magnetic flux.



Electronic distance measurement instruments use

(a) X-rays. (b) Sound waves. EXCER.
(c) Light waves. (d) Magnetic flux. ®

oo
or r ExceVe®

i ar 31 © 3R dt 125 e 3rerer €, @ 0.5 AT A1 B/ 5

FOE #H AT §, AT FdG$ FA g UR ©
If two points A and B 125 m apart, have difference in
elevation of 0.5 m, the slope correction to the A datum surface in ]_eve]_]_ing is a

measured length is

(a) + 0.001 m. (b) 0.001 m. EXCEL)E (a) horizontal surface. (b) vertical surface. EXCEL;
‘ (c) + 0.0125 m. (d) 0.001 m. (c) level surface. (d) non of the above. eNT

o
o <
Excel®™
X % r E,ﬂ,g\\e“



A datum surface in levelling is a

(a) horizontal surface. (b) vertical surface. EXCEl’-_
(c) level surface. (d) non of the above. ’ €~ T

Co) <
%or gxceVe®

| 3ugeEd ©

Electronic distance measurement instruments use A circular curve is most suited for connecting

(a) two straights in horizontal plane only.

(b) two straights in vertical plane only. z
(a’ X-rays. ‘b) Sound waves. EXCE’iENT (c) two straights, one in horizontal plane and the second in EXCE‘,_ENT
‘ (c) Light waves. (d) Magnetic flux. e e vertical plane. R

(d) two straights in horizontal plane or vertical plane.




A circular curve is most suited for connecting

(a) two straights in horizontal plane only.

(b) two straights in vertical plane only. EXCEL
(c) two straights, one in horizontal plane and the second in ‘LENT
vertical plane. o 0

(o) <
Tor g xce“e“

(d) two straights in horizontal plane or vertical plane.

. . . The lengths of long chord and tangent of a circular
A datum surface in levelllng 1S a curve are equal for the deflection angle of

E (a) horizontal surface. (b) vertical surface. EXCE’iENT a (a) 30°. ( b) 60°. EXCEIi ENT

(c) level surface. (d) non of the above. (c) 90°. ( d) 120°. Renas:

4.6

Tor Excele™



TS MATHR IF T o6l dR 3 ST T

dars fa8igor 1T F STET Nl &

The lengths of long chord and tangent of a circular
curve are equal for the deflection angle of

(a) 30°. ( b) 60°. EXCEL
(c) 90°. (d) 120°. Nl

A circular curve is most suited for connecting Size of a theodolite is specified by

(a) two straights in horizontal plane only. a) the length of telescope

(b) two straights in vertical plane only. : b) the diameter of vertical circle :

(c) two straights, one in horizontal plane and the second in EXCE"_ENT ) EXCE’lENT
For = S et

vertical plane. c) the diameter of lower plate
(d) two straights in horizontal plane or vertical plane. d) the diameter of upper plate




Size of a theodolite is specified by

a) the length of telescope

b) the diameter of vertical circle EXCE’iENT
c) the diameter of lower plate
d) the diameter of upper plate
TS JATHR 9 T ol di 3 S AT W _ | ShERIT & HdRF BIHET JFR H,

G, 4
o <
%or ExceWe®

948

The lengths of long chord and tangent of a circular In an internal focusing type of telescope,
curve are equal for the deflection angle of the lens provided is

(a) 30°. (b) 60°. foit
\ E (c) 90°. (d) 120°. NN T

a a) concave b) convex EXCERG

c) plano-convex d) plano-concave



In an internal focusing type of telescope,
the lens provided is

a) concave b) convex EXCERC.
c) plano-convex d) plano-concave

" O ﬁﬂ’l?l?-lﬁ? am ﬁﬁw The desi of horizontal and vertical alignments
o g I % o 1 super elevation, gradient is worst affected by

. - : gifasr 3R Fealer W@or &1 f3asa, g F41§, o
Size of a theodolite is specified by 99 @9 gnfaa §

a) the length of telescope
b) the diameter of vertical circle EXCEliENT
c) the diameter of lower plate y
d) the diameter of upper plate

a) Length of vehicle b) Width of vehicle EXCE’I'.ENT

‘ E c) Speed of vehicle d) Height of vehicle




The design of horizontal and vertical alignments,

super elevation, gradient is worst affected by

aifasr 3R Feahr WEor # BeEa, g 5918, o«
A9Q @I gH1fad &

a) Length of vehicle b) Width of vehicle EXCEIL
c) Speed of vehicle d) Height of vehicle ENT

LON o
° for r ExceWe"

The design speed of NH on a cross slope of
up to 10% is ‘

In an internal focusing type of telescope 10% o o
’ &ellel I ToAUd Y
the lens provided is SRR g R feomeer aifa @

E a) concave b) convex EXCE'I'.ENT%

\
c) plano-convex d) plano-concave

|

52

a) 100kmph b) 80kmph EXCERC.
c) 60kmph d) SOkmph

G, o
Ror Exeete™



The design speed of NH on a cross slope of

up to 10% is

10% d& 6T HIF A W TATT HT 384 a1fa &

&
Co) <
E Tor ExceNe™

The design of horizontal and vertical alignments, )5 3 The main purpose of providing camber is
super elevation, gradient is worst affected by

e e e ——

a) Length of vehicle b) Width of vehicle EXCE,i
‘ c) Speed of vehicle d) Height of vehicle o iNT‘

a) 100kmph b) 80kmph EXCED).
c) 60kmph d) SOkmph :

a) To collect storm water

b) To maintain equilibrium EXCE’iENT
c) To follow IRC specifications y %

d) To follow geometric specifications 3



The main purpose of providing camber is

$FaT YO I F AET 3667 ¥

a) To collect storm water

b) To maintain equilibrium EXCEl’-_
c) To follow IRC specifications

d) To follow geometric specifications

The design speed of NH on a cross slope of |-, | The legal axle load of the design
up to 10% is ] vehicle used in India is

10% % * FW T W vaAvT Hr B afy § HRA # g fFC ¢ B aew 7 A g 6K

ENT

Co) <
or ExceV®

a) 1.6 tonne

b) 8.2 tonne EXCEL:
c) 16.2 tonne "'ENT

a) 100kmph b) 8Okmph EXGERC
c) 60kmph d) S50kmph



The legal axle load of the design

vehicle used in India is

WRd A gEAAT fhe AT Bomse awes F1 FE g0 AR &

a) 1.6 tonne

b) 8.2 tonne EXCEL
c) 16.2 tonne ’ ’LEN o

d) 32.4 tonne

09 | The main purpose of providing camber is 955 | The desire lines are prepared for the study of

$FaT UG F FT HET 397 § ey STEIENT B SRERGT L 15T GRS
a) Traffic flow
a) To collect storm water b) Origin and desf:inf;ltion EXCERC.
b) To maintain equilibrium EXCEL; c) Growth of traffic in future et
c) To follow IRC specifications . €NT d) Anticipated traffic flow
d) To follow geometric specifications 3] 53 | The main purpose of providing camber is 954 | 1€ legal axle load of the design

wvehicle used in India is



The desire lines are prepared for the study of

STOl (@3 & IeTIdT & v aR &

a) Traffic flow

b) Origin and destination EXCEl’-_
c) Growth of traffic in future ¢ s
d) Anticipated traffic flow

The legal axle load of the deSign Q 5 © | which type of roads can be utilized during monsoon?
vehicle used in India is

s 3 e P et 1w o A B T*g?ﬂﬂﬁmwaﬁrasaﬁwmﬁm

a) 1.6 tonne
b) 8.2 tonne EXCEL) ., ~ a) Unpaved roads b) Gravel roads EXCE’iENT

c) 16.2 tonne c) Fair weather roads d) Bituminous roads
d) 32.4 tonne

ENT

95 4.

[
2 for pycete® or Excene®




Which type of roads can be utilized during monsoon?

AHA & SR fFE IR Y FSH FT1 39AT fFa
ST FehaT &7

a) Unpaved roads b) Gravel roads EXCElL
c) Fair weather roads d) Bituminous roads EN T

The desire lines are prepared for the study of 57

sToT JEBET & 3reaa & AT R §

G,
° for ExceV"

The rectangular pattern of roads has been
adopted in which Indian city?

AT AT H SHI T IMAAFR VT HI=T 34T 872

a) Traffic flow
b) Origin and destination EXCE‘I..ENT
¢) Growth of traffic lu future g a) New Delhi b) Chandigarh  ExGEB

d) Anticipated traffic flow "
c) Hyderabad d) Mumbai

The legal axle load of the design % or et

vehicle used in India is

The main purpose of providing camber is



The rectangular pattern of roads has been

adopted in which Indian city?

HNAIT AT A WSHI HT ATIAATRR Yol AT AT §72

a) New Delhi b) Chandigarh EXCER.
c) Hyderabad d) Mumbai Drret.

(] For Exce\\eﬁo
Which type of roads can be utilized during monsoon? Q 5 8

The arterial roads are a classification of
which type of roads?

mg#gﬁmaﬁmwaﬁrasaﬁwmﬁm Ul FEH fFE YER T gEHl F1 Feffeor 7§72
SIT Hhdl &7 ' '

a) Unpaved roads b) Gravel roads EXCEE a) Rural roads b) Urban Rods EXCELY. -
c) Fair weather roads d) Bituminous roads ’ €NT‘ c) National highway d) State highway Jreet

o
r Excel®™



The arterial roads are a classification of

which type of roads?

HAT Al fhd TR T TSHT F1 FItHIoT 872

a) Rural roads b) Urban Rods EXCEl’-_
c) National highway d) State highway ENT

The rectangular pattern of roads has been 959
adopted in which Indian city?

WA G TSH! $T HAAHR Yoot 3= 7141 §? ARTR AT AT A FH IFR F7 St AT?

a) New Delhi b) Chandigarh EXCERC
‘ c) Hyderabad d) Mumbai et

or Exc \\“

The Nagpur plan formulae assumed which
type of pattern?

35 7

a) Star and grid b) Star and circular EXCE,i
c) Hexagonal d) Circular y €~T



The Nagpur plan formulae assumed which

type of pattern?

ARG AT AT A 6T IFR &1 et AET?

a) Star and grid b) Star and circular EXCEl’-_
c) Hexagonal d) Circular Nre®

J . . . The method of providing a definite cross slope
~ & | The arterial roads are a classification of 60 . . .
20 hich tvoe of roads? cHOU | by varying thickness of foundations under roads
wiich typ * was proposed by?

. . TSHI & AT g i A F 3maRw W v FARTT FiA
UHA TSR T TFER T TeHT F aeffaRor g2 | T o T T e e

ENT

a) Rural roads b) Urban Rods EXGEE)C a) Tresauguet b) Metcalf EXCEL;
‘ c) National highway d) State highway ] c) Telford d) Macadam enNT

S,
o [
r Excele™ © for Excal®®



The method of providing a definite cross slope

by varying thickness of foundations under roads
oroposed by?

HASHI & A &g HT Al & YR W Th AlRad s
Zollel YT e hr AT &1 yTarq a1?

a) Tresauguet b) Metcalf
c) Telford d) Macadam
61 As per IS specifications, which of the following physical

The Nagpur plan formulae assumed which a
type of pattern? properties of structural steel is taken irrespective of its grade?

. n = N WA WT=eh fafdon o 3T9HR, TI=ATsh 2l o fehiT Wifdeh TUT sl 3Heh
gl Iol[ LN | TPTT <pT ATT? g I T | 3Tferer WA feam wmer 81

(a)Unit mass of steel

(b)Modulus of elasticity EXCE‘,‘_

(c)Poisson's ratio ENT
Gy &

(d)All options are correct %or Excol®”

EXCEl’-_

G,

ENT

(o) <
Tor g xce“e“

a) Star and grid b) Star and circular EXCEl'-_
c) Hexagonal d) Circular o iNT




As per IS specifications, which of the following physical

properties of structural steel is taken irrespective of its grade?

IMsTH fAfAdRIT & TR, HlHeAlcHS Fid & eeiaiad slfde aqon
F Y Pl ar Iz =@ dlqdqﬁmm%’?

(a)Unit mass of steel

(b)Modulus of elasticity EXCE[,-ENT
(c)Poisson's ratio e ;
(d)All options are correct Mg g 9

960

2 | Rivet value is equal to :

(a)strength of rivet in shearing

(b)strength of rivet in bearing E XCEli
ENT

The method of providing a definite cross slope |
by varying thickness of foundations under roads J:H0O
was proposed by?

TSHh & A= g fY A F 3R W v FARET F
STl YGId H¥al 1 fafer &1 geda 91?

(c)strength of rivet in tension
(d)minimum of (a) and (b)

a) Tresauguet b) Metcalf EXCEE
g c) Telford d) Macadam 3 DENT

|



Rivet value is equal to :

Rae AT ST &

(a)strength of rivet in shearing
(b)strength of rivet in bearing
(c)strength of rivet in tension
(d)minimum of (a) and (b)

NG 1 As per IS specifications, which of the following physical
- | properties of structural steel is taken irrespective of its grade?

TS WHeh fafadon & TTHR, W= ©Id o T Wifdes 0T sl 3Heh
IS I o1 § 2Aferes 7 feem S 1

(a)Unit mass of steel

(b)Modulus of elasticity EXCE’i

(c)Poisson's ratio ENT
G, &

(d)All options are correct “or Excol®™

EXCEl’-_ENT

0 9
%or gxcee®

03 | Permissible stress may also be known as

AT Uferarer et AT T hEd B2

(a)ultimate stress
(b)working stress
E (o)limit stress EXCE’i ENT

(d)yield stress © o xone




Q

52 [ Rivet value i i ™6 4 | Splice covers and it's connection in a tension
| Rivet valueis equal o 1 member should be designed

63 | Permissible stress may also be known as

Nfed darg MY & &9 H AT ST haT §

(a)ultimate stress

(b)working stress
(c)limit stress EXCE‘i_ ENT

(d)yield stress

options M

12 (a)To develop net tensile strength of main member

I | (b)To carry 50% load of main member EXCEI:
“=1 | (c)Iin tension member splices are not recommended 'lENT
1=l (d)To carry 33(1/4)% load of main member L) e

(a)strength of rivet in shearing

(b)strength of rivet in bearing EXCEL:
(c)strength of rivet in tension G ’lEN T
(d)minimum of (a) and (b) % s




Splice covers and It's connection in a tension

member should be designed

cag ha¥ 3R ddld HeET H SHHT heldeled T3olsH
fhaT JATAT TTigu

(a)To develop net tensile strength of main member

(b)To carry 50% load of main member EXCE‘,'-
(c)In tension member splices are not recommended ENT
(d)To carry 33(1/4)% load of main member % T B
. . ~ = | Tacking rivets in compression plates exposed to weather have
) «J) (00 J
5 | Permissible stress may also be known as 79| 4 pitch not exceding 200 mm or ?

. HIEH gHTaA | Hdied We ¥ 2ie Rae & U= 200 mm AT
AT Uferarer et AT T hEd B2 PR S—

(a)ulmn':lte stress (a)32 times the thickness of outside plate
(b)working stress EXCEL: (b)16 times the thickness of outside plate EXCEE
(c)limit stress ’lENT (c)24 times the thickness of outside plate ".ENT

(d)yield stress R a5 ‘ (d)8 times the thickness of outside plate R g B




Tacking rivets in compression plates exposed to

weather have a pitch not exceeding 200 mm or ?
W%Wﬁmﬁﬁﬁrivetsﬁm
Tsh O 200 TA#AT § 37k =gl g ar?

(a)32 times the thickness of outside plate

(b)16 times the thickness of outside plate EXCEIL:
()24 times the thickness of outside plate ‘LEN T
(d)8 times the thickness of outside plate % o e e

What is the recommended value of the effective length if the end

li rs and it' nnection in nsion
a L Sp ce covers and it's co ectio a tensio condition effectively held in position and restrained in direction at

member should be designed both end?
AT TS W ThfSeRT AT il 30 Haw ¥ 3Tehr 3T =Ry ﬁ%@ﬁﬁ?iwﬁm%%ﬁ&ﬁ@mﬂﬁmﬁ

a ! (a)To develop net tensile strength of main member

=1 | (b)To carry 50% load of main member = a O.SOL b 1.2L A

'.'5 (c)In tension member splices are not recommended EXCE’I.ENT ( ) ( ) EXCE‘LENT
g! (d)To carry 33(1/4)% load of main member R p 85 ‘ (C)O'65L (d)2'5L ®

[
° for xcete®




What is the recommended value of the effective length if the end

condition effectively held in position and restrained in direction at
both end?

gaTal AT 1 RN Hed a1 giar ¢ afe 3ifad fufa fufa #
THT T F IS @ & 3R QA R 2w F ey g ¥7

(2)0.80L  (b)1.2L
(c)0.65L  (d)2.5L EXCE‘LENT

G,
° tor E xce“e

Tacking rivets in compression plates exposed to weather have For steel construction where secondary effects are considered without
i g ] P P P Q G [ | windor earthquake loads, the permissible stresses on the members of
a pitch not exceding 200 mm or ?

connections, as specified, may be exceeded by :
HIHH gTa | Wdied wie § it Rde @t firer 200 mm =1 3o ¥ fmivr <6 fow et fefoes wurel (5T ang A weRm ) I Sia 9wt e forar s
e 3tfares =12 gan? ¥, oTaddl a1 SISl U 319519 Widelcll ohl AIIINAT U | foha=T Samer faam 5 Wbl ¥

(a)32 times the thickness of outside plate

(b)16 times the thickness of outside plate EXCEL

(c)24 times the thickness of outside plate iEN',
(d)8 times the thickness of outside plate R g B ‘

(a)25% (b) 33% EXGLE
(c)33.33% (d) 40% LEnT

[ o
° For gxcet®™




For steel construction where secondary effects are considered without
Q 67 wind or earthquake loads, the permissible stresses on the members of
connections, as specified, may be exceeded by :

SETT fAATT & fIU STgT ATeAfAe TofTd gar AT ehT R o foar
ATl ST g, [Afese o & H holaldd %Wwadad SGICHEGE
CdRT 9R ThdT ST HeheT &

(a)25% (b) 33% Exdl
(c)33.33% (d) 40% ALENT

° for ExceV"

What is the recommended value of the effective length if the end
condition effectively held in position and restrained in direction at
both end?

For a steel column, the permissible stress in axial compression

depends mainly on

JUTelt IS oht STV WA o ¥ Afe 21 R o aia ferfer ot wuelt €0 o fefa o
@ AR feym W Tes foran s #)

(a)0.80L  (b)1.2L Exdln
E (c)0.65L (d)2.5L i S enT

o
¢
© for Exce®

(a)effective length

b)sectional 1
(b)sectional area EXCEiENT

(c)radius of gyration
(d)slenderness ratio




For a steel column, the permissible stress in axial compression

depends mainly on

UF O A & AT, ey gdfisad & Aad dorT A&7 &9 4
s Far §

(a)effective length

b)sectional
(b)sectional area EXCE‘LENT

(c)radius of gyration
(d)slenderness ratio %

® tor ExceVe®

For steel construction where secondary effects are considered without
wind or earthquake Ioads, the permissible stresses on the members of |°] 0 9 Transverse shear to be considered for design of batten plate is

iammWﬁmW@ammﬁmmmmmi HATeTeh &I oh 3hedT oh TAI0 TTURT UwUuT b1 BT fora | foar S —

(a)0.5% of column load

(b)1.5% of column load EXCE’iENT

(c)2.5 % of column load
(d)3.5% of column load % el e

(a)25%  (b) 33% P
(c)33.33% (d) 40% PENT|

[ o
©or ExceWe™




Q 69 Transverse shear to be considered for design of batten plate is

ded e & B39ms & fav craad sadl W AR fear s ke

(a)0.5% of column load

(b)1.5% of column load EXCEI:
(c)2.5 % of column load ILENT

(d)3.5% of column load % op e e

For a steel column, the permissible stress in axial compression
depends mainly on

steel column of length L is given by:

ST o TP o T, steftar ddteT o o195 Ufderer e el e # THISA WEIHT o ITTHN, Tolg ¢ atel U 33T T Sl WUTell Samehel ool Bl %7

(a)o.5L (b) 1.3L -
E (c)2L (d) 3L ExciE‘lf”T

o
Excel\®®

(a)effective length

, (b)sectional area EXCEI:

C=0 | (c)radius of gyration iENT
(d)slenderness ratio S o




As per codal provision, the effective buckling length of a cantilever
a Y40, .
steel column of length L is given by:

GG

o & 3THR, odl3 Ul & Hfeellay Tl Hlcd HT FeIrr

(c)2 L

Q 9

(a)0.5% of column load
(b)1.5% of column load
(c)2.5 % of column load
(d)3.5% of column load

(a)o.5L (b) 1.3L

i
Transverse shear to be considered for design of batten plate is ’

To8R &:

EXCEl’-_ ENT

Co) <
%or gxceVe®

(d) 3L

25 MPa AWHeH Tt <hehle ohl YedTRTdT HIUich okl WA oITeNT fehadT 217

(a) 5000
(c) 25000

(b) 15000

EXCEI:
(d) 35000 TENT

LS
o
" Excel\e®

EXCEIiENT




What will be the approximate value of elasticity modulus (MPa)

concrete of strength 25 MPa?

25 THAUIT &7 dlehd & AIGR AISTSH (TAUIT) FHhle Fl TATA T
AT FIT gIEM?

(a) 5000 (b) 15000 o
(c) 25000 (d) 35000 SNLENT

(o) <
Tor g xce“e“

70 As per codal provision, the effective buckling length of a cantilever ¢ | If the area of tension reinforcement provides is less than that required
Q ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, i

steel column of length L is given by:

for a balanced section, then the RCC beam is called

o i jC! %m o Ed) ﬁ‘ﬁ'ﬂTW [ < ,T-ﬁ
HISH WA oh TTHN, T2 2 Al U 9T W bt WHTElt Sache Terg Bt &2 Wg@@gwm ikl T T YA & U €, o UH

(a)Over reinforced section
(3)0.5 L (b) 1.3L EXCE‘,‘_ (b)Balanced section EXCE’i
(C)Z L (d) 3 L ENT (c)Under reinforced section ENT
ot (d)All of the above ® tor g™

<
or ExceVe™




If the area of tension reinforcement provides is less than that required

for a balanced section, then the RCC beam is called

gfe delld EsIanoT $T &7 Ffdd TS & T 3aRdsh & %A g, ol
REE T FEr AT &

(a)Over reinforced section

(b)Balanced section EXCE
(c)Under reinforced section ’LENT
(d)All of the above % oy ik e

97 3 | value of factor of safety for concrete is-

25 MPa ¥z ATl chshle ohl WedTEeldT HIUich <hl W THTMAT feha=T BRTT? chehle oh TTT, TYeaT TUTih &

(a) 5000 (b) 15000 e
‘ E (c) 25000 (d) 35000 Sent

(a)2.0 (b)1.5
(c)3.00 (d)5.00 EXCEL - N T

LS o
o e
" Excel\e®



Value of factor of safety for concrete is-

Fohic & TIT JI&T & FRP FT e -

(a)2.0 (b)1.5

(c)3.00 (d)5.00 EXCEl"-

ENT

Co) <
%or gxceVe®

If the area of tension reinforcement provides is less than that required

for a balanced section, then the RCC beam is called Shear reinforcement in a RCC beam is provided to resist

Afe FAfAa TE o AU Eyad YeaaT i a1 W fean Ton 999 UaaT & &0 §, o UE

i > 0 1 fous ) B - AU
B fertll A g 0 WU Yerd= ohT UfeEET o o fu wer feram iiem ¥
- forced (a) Diagonal tension
a)Over reinforced section -
. (b) Bending stress
(b)Balanced section EXCEIL: . EXCEL:
(c)under reinforced section ’lENT (c) Compr:esswe stress "—ENT
(d)All of the above % o et (d) Punching shear % o et




#® 7 &4 | shear reinforcement in a RCC beam is provided to resist

Wwaﬂﬁammﬁwmaﬂﬁ%%@wﬁm
STTeT

(a) Diagonal tension
(b) Bending stress
(c) Compressive stress EXCE‘LEN T

(d) Punching shear g g 90

7 3 | value of factor of safety for concrete is- a Xi 5 The spacing of stirrups near the support is-
(a)2.0 (b)1.5 ‘ (a) Minimum
o ' | (b) Maximum -
g (d)s.00 EXCE’iENT} (c) Between minimum & maximum EXCE’lENT
N 9 (d) Zero ’ <




Q 75 The spacing of stirrups near the support is-

FAYST & 9T THIaAT HT gl 8-

(a) Minimum

(b) Maximum =

(c) Between minimum & maximum EXCE‘LENT
(d) Zero e 0

o <
%or ExceWe®

Design of a two—way slab simply supported on edges and having no

Shear reinforcement in a RCC beam is provided to resist s SRR
provision to prevent the corners from lifting, is made by

Ueh fg—af¥Teh Bl o1 el fith TRl oY feent ¥ 31 fehii bl Sa W Tk okl whid

Terwlt el fiT o STURdur Woret T ..o TR UieR T o3 ok U wa feram wmam & )
21131 G L SR H AT HIE
(a) Diagonal tension (a) Rankine formula
(b) Bending stress (b) Marcus formula
(c) Compressive stress EXCE’LENT (c) Rankine grashoff formula EXCEli_ENT
(d) Punching shear S 5 974 (d) Grashoff formula < rrfe




v Design of a two—way slab simply supported on edges and having no
H70 > bihe
provision to prevent the corners from lifting, is made by .................

A-dBT ToT &7 Boisel 90 fharl W gafldg & 3R it &
36 ¥ Uehel & T Slg IIaUTT 6l &

(a) Rankine formula
(b) Marc.us formula EXCEL
(c) Rankine grashoff formula ENT
(d) Grashoff formula o o
°tor Excel\e®
Q ’75 The spacing of stirrups near the support is- o Yard What shalll be the total strain in Fe 415 grade steel corresponding to the |
- || stress of 0.87 f,?/ Fe
STTATS oh U Becll ohT TS 2IT B— 415 US3UEAH 0.87 fvtﬁaﬁéﬁW&TWﬁﬁ@%ﬁmﬁﬁﬁ7
(a) Minimum
(b) Maximum B 3 z -
() Between minimum & maximum EXCEILEN (a)o e (b)o o028 EXCEII.ENT
(d) Zero R 5 g 92 (C)OOOZ (d)0.004 % b




What shalll be the total strain in Fe 415 grade steel corresponding to the

stress of 0.87 fy?/ Fe

(a)0.0035 (b)0.0038 EXGERY,
(c)0.002 (d)0.004 et

Co) <
or ExceV®

In limit state method of design for RCC flexural members, the centre

Design of a two—way slab simply supported on edges and having no

provision to prevent the corners from lifting, is made by of gravity of the compressive force acting on the section from the top

Ueh f3—<f¥Teh B oAl giell Tt ferail oF feert & 3i feharil ehl 334 | ek ol chis ufafera Hitle shaite o AU Tl & fau fafe @ ufteenT faftr §, ddieT st o
11051531 = N 1 - S H ST A E Teedl hvs, WeRIT ok chehle <k Well St 19T 9 I uT ¥—
::)) Rankinefformt:la (a) 0.30 of the depth of neutral axis
Marcus formula = (b) 0.57 of the depth of neutral axis =
(c) Rankine grashoff formula EXCEl,. ENT (<) 0.42 of the dezth of neutral axis EXCEILENT
(d) Grashoff formula - (d) None of the above A a g Do

[
2 or Excele™ ‘




In limit state method of design for RCC flexural members, the centre

of gravity of the compressive force acting on the section from the top
most fibre of concrete is a distance of-

AT flexural AT & [T 3o T dHAT T AT H, Fghic &

?ﬁ'@'%—lhls,d{ T AN W AT TRNSA I FT T&calhyuT FHI e Teh
@' _

(a) 0.30 of the depth of neutral axis
(b) 0.57 of the depth of neutral axis X
(c) 0.42 of the depth of neutral axis EXCE’LENT
(d) None of the above & o
Por ExceWe®

What shalll be the total strain in Fe 415 grade steel corresponding to the
stress of 0.87 f,?/ Fe

Prestressed concrete is more desirable in case of cylindrical pipe

subjected to :

415 US3sEAH 0.87 ny#Hﬁ&TWWﬁmﬁﬁW AYSIfA Shehie 3Tk aigia & TRl e UIsw o faw, i o3 @ &t —

(a)internal fluid pressure

(b)external fluid pressure EXCEi
ENT

(c)equal internal and external fluid pressure
(d)none of the above

(a)0.0035 (b)0.0038 EXCERC. |
(c)0.002 (d)0.004 Srret-




Prestressed concrete is more desirable in case of cylindrical pipe

B79

subjected to :

IIRITUd Shenle dolddlehY UI8T o HAH H 318 dioad &

(a)internal fluid pressure

(b)external fluid pressure EXCE‘i

(c)equal internal and external fluid pressure
(d)none of the above %

ENT

Co) <
%or gxceVe®

In limit state method of design for RCC flexural members, the centre A< Which one of the following is categorised as a long term loss of pre-

stress in a pre-stressed concrete member?

of gravity of the compressive force acting on the section from the top
most fibre of concrete is a distance of-

Frefafee o 9 fehuehl Uek et afa shehie ¥ ud T o defehreliT aaf < ww # wwffepa

Teed ohs, W oh Thehl€ o Weld SHudl Y91 § o ¥ ¥— fera ST % -
) (a) loss due to elastic shortening
(a) 0.30 of the depth of neutral axis
(b) 0.57 of the depth of neutral axis = (b) loss due to friction i
(c) 0.42 of the depth of neutral axis EXCE& ENT (c) loss due to relaxation of strands EXCEiENT
(d) None of the above o e (d) loss due to anchorage slip o x

&
® for Excele™

© for ExceNe® ‘



Which one of the following is categorised as a long term loss of pre-

stress in a pre-stressed concrete member?

AFATI T # & el AT Ya-cIelld dlel oIF HGET H Ya-delld &
ABCAICERCERIG %Wﬁaﬂﬁaﬂmw%’?

(a) loss due to elastic shortening

(b) loss due to friction

(c) loss due to relaxation of strands EXCE’LENT
(d) loss due to anchorage slip e

or Excee®

Prestressed concrete is more desirable in case of cylindrical pipe
subjected to :

(a)internal fluid pressure (a) Equal to C/C

(b)external fluid pressure > (b) 1/3cC =

(c)equal internal and external fluid pressure EXCEiENT (c) 2/3cC EXCEiENT
(d)none of the above I o (d) 2C o o




The value of mobilised cohesion will be-

HIfST HAISTT T Hed BIATI-

(a) Equal to C/C

(b) 1/3 C R

(c) 2/3 C EXCE‘LEN T
(d) 2C % x

o <
%or ExceWe®

Q 8“ Which one of the following is categorised as a long term loss of pre- Q 8‘ Z A Newtonian fluid is defined as the fluid which

stress in a pre-stressed concrete member?

Freferfiaa % & ferment weh gl e dhete W el e o el af o ww o e Ueh IO U8 i Ueh UATE o &0 o URaifa fopan 9mar § Sir—
TeRam ST ¥ :
(a) loss due to elastic shortening (a)Obeys Newton's law of viscosity
(b) loss due to friction A {blis incompre?sible [
(c) loss due to relaxation of strands EXCEi ENT (clObays Hook-s law EXCEiENT
(d) loss due to anchorage slip o o | {d)is compressible S, o«

. |
© for ppcene™ "




A Newtonian fluid is defined as the fluid which

Al dlel YGrd &l dlel Y&Id & & H IRATNT fhar Srar &

(a)Obeys Newton's law of viscosity

(b)ls incompressibl
. EXCEL:

(c)Obeys Hook's law
(d)Is compressible

ENT

(o) <
Tor g xce“e“

The value of mobilised cohesion will be—

(a) Equal to C/C

i 1/ EXCEL: | (b)Planimeter EXCEIL:
; (c)Anemometer
{Z)) ;{:3 c e i€~r (d)Speedometer . iE¢~T

or ExceV



Wind speed is measured by an instrument called as ........ .

gdl bl I1fd I Teh 3UHIUT GART AT ST § ........

(a)Reflectometer
(b)Planimeter

(c)Anemometer EXCE‘i ENT

(d)Speedometer

Co) <
or ExceV®

Q 8 2 A Newtonian fluid is defined as the fluid which If salt is added in water, the surface tension of water will :

) (a)Increase
(b)Decrease

(c)Willnotchange EXCEEENT

(a)Obeys Newton's law of viscosity
(b)Is incompressible
(c)Obeys Hook's law EXCEEENT

(d)Is compressible

(d)None of the above

[
© g, © %or Excel®




If salt is added in water, the surface tension of water will :

39N Ylall H AHb SNST ST &, ol Ul sl Adg T delid gIam:

(a)Increase
(b)Decrease

(c)Will not change Exc Ei

(d)None of the above ENT

G,

©for Exce\\e'c‘o
Q 8 3 | wind speed is measured by an instrument called as ........ . '«J | Stoke is the unit of
el T Rl Ueh IUSHIUT ERT HIUT AT & S ....... Shagelldl 8 ek A0 W fehTeht Ueh Toh1E &7
(a)Reflectometer Eb))lliglnnenr'?atlc V|sco:?;y
(b)Planimeter EXCEL: (c)Specificvolume EXCEIL=
(c)Anemometer iENT (d)Specificweight iENT
(d)Speedometer = > o o




Q 85 Stoke is the unit of

(a)Dynamic viscosity
(b)Kinematic viscosity

(c)Specific volume EXCE&

(d)Specific weight

ENT

(o) <
Tor g xce“e“

If salt is added in water, the surface tension of water will : The angle of contact between mercury and glass tube in case of

capillary depression is

Ut § AHeh T ¥ T Rt US d-Ta— HYTATEIHT 3T o WehiUT i T et 3 Ul o il Wibeh ahIvT A1dT $—
e (a)60° (b)90°
(GNoveofthe awove EXCEL; (c)128°  (d)157° EXCELX.

ENT

[
o
%or ExceV®™

for Excel®™




Q 86 The angle of contact between mercury and glass tube in case of
capillary depression is

hiAhI 3AHIG & HAFHS H IRT HR 7ol I & oI HYeh &l hI0T &

(a)60° (b)90°
(c)128°  (d)157° EXCER.

G
S ,,3 Stoke is the unit of Q

® tor Exce\\e'c‘o
T2Ieh 30 W fehHchl Ueh SohTS &7 Wiz ( Poise ) & ZehTE ¥—

Poise is unit of

(a)Dyne-S/cm? (b)Dyne—cm/s EXCEEL
(c)Dyne-cm/s?  (d)Dyne-s/cm A ’liNT

(d)Specificweight

(c)Specificvolume %
EXCEIL ENT



Q 87 Poise is unit of

Poise &I 35 &

(a)Dyne-S/cm?  (b)Dyne-cm/s EXCEL
(c)Dyne-cm/s2  (d)Dyne-s/cm ) ILFNT

50 The_angle of cont_act _between mercury and glass tube in case of Q 8 8 The viscosity of a gas.
capillary depression is

HITATASRT AT oh UehTUT T T it 3T an o sffer Weh <RIl 2iar $— 9 ol yadT—

o o )
(a )60 (b)90 (a)Decreases with increase in temperature
o o EX E - (b)Increases with increase in temperature e
(C) 128 (d )157 C iENT (c)Isindependent of temperature EXCEiENT
o (d)Isindependent of pressure for very high pressure intensities b 5
o b

[
© for Excel™




Q 88 The viscosity of a gas.

Ush 3IF & gfadgc]

(a)Decreases with increase in temperature
(b)Increases with increase in temperature .
(c)Is independent of temperature EXCEi
(d)Is independent of pressure for very high pressure intensities

ENT

(o) <
%or ExceWe®

Poise is unit of Q 8 9‘ Which of the following is the correct dimension of surface tension?

wizs ( Poise ) &1 SehTS §— 1 o 9 @I Y8 a9 ot 9 man ®?

(a)W/m (b)J/m?2

(a)Dyne-S/cm?  (b)Dyne—cm/s EXCEL; (c)J/m (d)N/m?

(c)Dyne—cm/s? (d)Dyne—s/cm

EXCEli

o(7

ENT

Tor Excel®

ENT

IS
5 or Excel




Which of the following is the correct dimension of surface tension?

3
G

& & O Pl T HAg dA1d T Hal TIATH g7

Q

(a)W/m (b)J/m?

(c)J/m (d)N/m? EXCE‘I..

ENT

(o) <
Tor g xce“e“

In a simply supported beam of span L carries a uniform load W, the

maximum B.M. is

Ueh AT 3TecAitsld 80T T9deht oiars L W0 ¥ Tem UehddiT 9T W, a8 ot T8
¥ AT 3Tfirehan sieh 2Imavt (B.M. ) &

(d)Isindependent of pressure for very high pressure intensities

(a)Decreaseswith increase in temperature
(b)Increases with increase in temperature = (a)WL/Z (b) WL/4 =
(c)Isindependent of temperature EXCEiENT E (C)WL/S (d) WL/16 EXCE&EN”

G,
for Excelt®



In a simply supported beam of span L carries a uniform load W, the

maximum B.M. is

e Tel & Ueh FATAT FAAT §IH H Ueh FAS oIS Seog,
E’I?IT g haa NvA| &

(@)WL/2 (b)) WL/4
(WL/8  (d) WL/16 EXCE‘LENT

G,
° for ExceV"

The slope of curve of S.F.D (Shear Force Diagram) at any section will be

Q 8 9‘ Which of the following is the correct dimension of surface tension? equal to

TH.U &, W0d ( TER Wi STEW ) ok ok okt 9auT (W) feret off @e <k fau
....... o SIS BT #

(a)The slope of loading at the section

(a)W/m (b)J/m?

EXCEIL: (b)The ordinate of loading diagram at the section EXCEIL
(c)J/m (d)N/mz iENT (c)The area of loading diagram from the end to that section ".ENT
aa p Ry (d)None of these a9



The slope of curve of S.F.D (Shear Force Diagram) at any section will be

equal to

fordT ot @3 A TauHhsr (MW B 3RW) & dh I Talled ST gl

(a)The slope of loading at the section

(b)The ordinate of loading diagram at the section EXCE‘,'-
(c)The area of loading diagram from the end to that section ENT
(d)None of these % ol B e’

In a simply supported beam of span L carries a uniform load W, the 7 © [ Under a beam loading condition, if the bending moment is constant

maximum B.M. is over a certain span length, then the shear for would be:

TS AT STafEd e REekt TS L o ¥ e uehEe Wi W, a8 o T Eiqﬁgim’ﬁﬁamgmmﬁmwiﬁmmm

¥ AT 3Tfirehan sieh 2Imavt (B.M. ) &

(a)zero
(a)wL/2 (b) WL/4 b i
EXCELI: (b)decreasing EXCEIL:
E (c)WL/8 (d) WL/16 "—ENT (c)constant and a non—zero value 'LENT

or Excelto® (d)increasing " or Excet




Under a beam loading condition, if the bending moment is constant

over a certain span length, then the shear for would be:

T S oifser [Fafa & dgd, afe sia 1 &1 T Aad 3afer &
ol W PR @ar g, ol el -

(a)zero

(b)decreasing EXCEli_

(c)constant and a non—-zero value
(d)increasing

ENT

G,

Co) <
%or gxceVe®

For a strongest rectangular beam cut from a circular log, the ratio of

The slope of curve of S.F.D (Shear Force Diagram) at any section will be ¥ 9 2
© = | the width and depth is..........

equal to

FATRR A5 U | UHeld TIATeh (iU whied o fou, e v TeiE &t

TH.UG S W (T R SO ) o ok Sl WeuT (%A ) ferdi ot e o ferw
_______ 3 SIS BT ¥ AU ......... BT AR

(a)The slope of loading at the section
(b)The ordinate of loading diagram at the section EXCE’i (a)0.303 (b) 0.404 EXCE’i
ENT (c)0.505 (d)  0.707 ENT

(c)The area of loading diagram from the end to that section

(d)None of these % a . B  for pncone™




For a strongest rectangular beam cut from a circular log, the ratio of

the width and depth is..........

Ueh INelleh oldT @ Teh Holgd TAATRR SIH Ficad & folu, dlisg 3R
MGG &M eI ... g

(a)0.303 (b)  0.404 EXCE
(c)0.505 (d) 0.707 ‘LENT

G,
® tor ExceVe®

The nature of distribution of horizontal shear stress in a rectangular

Under a beam loading condition, if the bending moment is constant

over a certain span length, then the shear for would be: beamis :
ek WIRE SR % AR, A S vl Uk Fivee eed e fer ¥ we 3w e Ueh MUATRTY tRA | Sfesl 3T0auuT Uicislel oh Taa¥uT ehl Wehfer Bl 37
hHel T S B2

(a)zero (a)linear .

(b)decreasing EXCELI: (b)parabolic EXCEL:
(c)constant and a non—zero value "-ENT ::’)):‘I’ip‘:ir:m"c ’lENT
(d)increasing el % el e

o
o &
Excele”




The nature of distribution of horizontal shear

stress in a rectangular beam is :

Ueh TIATRR §1H H &fdsl hdlal dedld & [aaur &hr
AR IS

(a)Linear (b)parabolic EXGEl
(c)Hyperbolic (d)Eliptic AN T

&
=
%or gxceVe®

_ | P is the weight of a prismatic bar and L is its length, |
Q 95 what is the deflection of the bar due to self weight if AE
is the Axial Rigidity:

JATHN 5 H H A AR S Fe & o, Shew oI e @ afe U fUsHiar oIF o1 YR P Ud SWeht L &g ¥, O %9 o aoid H 2 o1t
HIU....... BT SR} FEUIawT o1 T <R B (afe AE stefiar et )

(a)0.303 (b) 0.404 EXCERE
E (c)0.505 (d) 0.707 lLENT

. [ For a strongest rectangular beam cut from a circular log, the ratio of

79 1 the width and depth is..........

-1 (a)PL/AE (b)2PL/8E Bl
1| (c)PL/SE (d)PL/2AE SEnT




If P is the weight of a prismatic bar and L is its length,

what is the deflection of the bar due to self weight if AE
is the Axial Rigidity:

gfe i RsAfed IR F1 gaT § 3R v sgH a1 §, O v 3refiy FoRar &
HRUT FTGY Tl & HRUT I- ST [F&I90T F471 §:

(a)PL/AE (b)2PL/SE
(c)PL/8E (d)PL/2AE EXCESENT

G, 4
o <
%or ExceWe®

)24, The nature of distribution of horizontal shear stress in a rectangular
9 9 ~ § beamis:

Ueh 3TMATRT tR-T W &fal STU=UUT Widerct oh Tae@ur it Wehfal Bl &7

c) bending moment is minimum
d) shear force is zero

(a)linear

(b)parabolic

(c)hyperbolic EXCE’i ENT
(d)eliptic A g 92

a) bending moment changes sign
b) bending moment is maximum




Q 96 The point of contraflexure is the point where :

Contraflexure ST Heel fdg & ST8T:

a) bending moment changes sign
b) bending moment is maximum EXC E‘i_
c) bending moment is minimum

d) shear force is zero

ENT

(o) <
Tor g xce“e“

~_ | If P is the weight of a prismatic bar and L is its length, .
Q 9 5 what is the deflection of the bar due to self weight if ALY 97
is the Axial Rigidity:

In a section undergoing pure bending, the neutral surface is subjected

to

sich= ok 3= hl€ U e Tdg Welleld &

picH
a) compressive strain
b) tensile strain
c) zero strain
d) None of the above

Afe Teh U=l oW AT U P e 39T L @ ¥, aF et o aoiT o 2 el

Tt ot Wi o 2T (afe AE 31efier gear §)

(a)PL/AE (b)2PL/8E
(c)PL/SE (d)PL/2AE
|




In a section undergoing pure bending, the neutral surface is subjected

to

ACH FF W oA I Th TS H, dcTy Adg & HfT @

a) compressive strain

b) tensile strain .
c) zero strain EXCEILENT

d) None of the above % el e

Two beams, one of circular cross section and the other of square cross

section, have equal areas of cross section. If subjected to bending,
then

§ y 5 o ¥, AT U gHhR 3Ol Ufdede ohl ¥ 3T gE oTih 3TIWERT Ufdeoe
el uiterd = forg o forg & RT3 UfcTedel oh Ush WHIH &EAhel ATl &1 Jfe 396kl sichd feham wmw, o witummn
AT FAT?

a) bending moment changes sign a) compressive strain
b) bending moment is maximum b) tensile strain
c) bending moment is minimum c) zero strain

|

d) shear force is zero d) None of the above




Two beams, one of circular cross section and the other of square cross

section, have equal areas of cross section. If subjected to bending,

&l 1A, HpoR HIF Jlel N TFIRN h1d Q2T & @R H, Hid
AT & SET &7 gid &l IfS Slhad o 3efeT §,

No)

a) compressive strain
b) tensile strain

EXCEIL:
c) zero strain q ‘LENT
d) None of the above % ol s

In a section undergoing pure bending, the neutral surface is subjected
to

9-“ ‘ The unit in which both sedimentation and digestion processes of
Q v, . . .
sludge take place simultaneously is called :-

Va5 Sich oh 3T hlE W el Udg Welleld &

g ST, TAHH el it STaHIET T UTelH URRATE 1 Ueh W BIel §, Shacldl 2-

a) compressive strain a) Detritus tank
b) tensile strain b) Skimming tank
c) zero strain c) Digestion tank
d) None of the above d) Imhoff tank
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The unit in which both sedimentation and digestion processes of

sludge take place simultaneously is called :-

fog sorrs & fgs 1 g 3R g gfhar St te @y gidr § 39

el SITdl g -

a) Detritus tank
b) Skimming tank
c) Digestion tank
d) Imhoff tank

.| Two beams, one of circular cross section and the other of square cross
Q 9 8 section, have equal areas of cross section. If subjected to bending,
then

3 ¥, TH Tsh gOeRN 3T Ufdeod & § 3N 00 iR 3T Uidese

EXCEl’-_ ENT

o <
%or gxceVe®

In the oxidation ditch, the excess sludge is taken to :-

THT3TIIRT iwsel o Ueh WA SGIthel alcl #1 Ag SHehT sichl fehdl ST, A7 TRV STERAERIUT 3ITS | STfierT 21TUeh ohl SATRET W ©f ST SIar -

T FT?

a) compressive strain
b) tensile strain
c) zero strain

‘ d) None of the above

a)Anaerobic digester
b)Incinerator
c)Drying beds
d)Aerobic digester




Q In the oxidation ditch, the excess sludge is taken to :-

TAR0T 8T H, TaRed s &l of =T ST g -

a)Anaerobic digester

b)Incinerator EXCEI:
c)Drying beds q ’lENT
d)Aerobic digester % o B e

9-“ ‘ The unit in which both sedimentation and digestion processes of
Q q . .
sludge take place simultaneously is called :-

g ST, TAHH el it STaHIET T UTelH URRATE 1 Ueh W BIel §, Shacldl 2-

a) Detritus tank
b) Skimming tank
c) Digestion tank
d) Imhoff tank




